# BID FORM CATETORY A

### MINIMUM SPECIFICATIONS: LIGHTING & BALLASTS

#### BIDDER'S SPECIFICATIONS:

(Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

	DESCRIPTION OF ITEM		APPROXIMATE QUANTITY - ANNUAL	PRICE EACH	PRICE PER CASE	TOTAL PRICE
A-1	Electronic Lamps F32T8 TL741A or SP41 32-Watt Low Mercury, 20,000 hrs. avg., 4 foot Required: Philips - Alto, G.E. – Eco, Sylvania or (equal)	AS SPECIFED	55 cases - 36 per case	139 Es	SOOY	275230
A-2	Electronic Lamps F96T8 TL 741 or SP41 59-Watt 15,000 hrs. avg., 8 foot Required: Philips, G.E., Sylvania or (equal)	AS specition	35 cases - 24 per case	160	38 40	1344 00
A-3	Lamps F40T12CWRSWM 34 - Watt Cool White, 4 foot - 20,000 hrs. avg. Required: Philips, G.E., Sylvania or (equal)	AS SPECIFIED	27 cases - 30 per case	150	4500	1215
A-4	Lamps F96T12CWWM 60 - Watt Cool White, 8 foot - Slim-line - 12,000 hrs. avg. Required: Philips, G.E., Sylvania or (equal)	AS SPECIFIVE	22 cases - 15 per case	225	3325	74250
A-5	Lamps High Output F96T12CW / HO 95-Watt 12,000 hrs. avg., 8 foot Required: Philips, G.E., Sylvania or (equal)	AS SPECIFEDA	20 cases - 15 per case	150	25 <u>20</u>	45000
A-6	Compact Fluorescent w/ Enclosed Cover – Outdoor Bulbs 18 watt = 75 Watt, 9,000 hrs. avg. par 38 eco bulb flood light Required: Philips Earth light–Marathon Super long life or (equal)	AS SPECITIVES	16 cases - 60 per case	179	10740	171840
	PLEASE SPECIFY IN DAYS:	All INSING NORMALLY IN		•		
	DELIVERY TIME FROM ORDER DATE	N 2				

PAGE TOTAL: 8222 10

ELECTRIC FIXTURE SUPPLY, INC. 810 EAST 11TH STREET P.O. BOX 231 BROWNSVILLE, TX 78523-0231

Awarded By Commissioners' Court on 3/1/2022

## BID FORM CATETORY A

(CONTINUED)

MINIMUM SPECIFICATIONS: LIGHTING & BALLASTS

#### BIDDER'S SPECIFICATIONS.

(Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

	DESCRIPTION OF ITEM		APPROXIMATE	PRICE	PRICE PER	TOTAL PRICE
			QUANTITY - ANNUAL	EACH	CASE	
<b>A-</b> 7	Ballasts: T8 - 4 Lamp - 4 foot Electronic – ICN4P32SC 120/277 Volt Snap-on, Motorola, Robertson's or (equal)	ADVANCE OR KBYSTUM	100 each	1075		1075 5
A-8	Ballasts: T8 - 2 Lamp - 4 foot Electronic – ICN2P32SC 120/277 Volt Snap-on, Motorola, Robertson's or (equal)	Apuraca UR KEYSTOWN	110 each	10 02		1106
A-9	Ballasts: 2 Lamp - 8 foot Electronic – REL2P59RH – 120 Volt Snap-on, Motorola, Robertson's or (equal)	Apvanen OR Kersium	80 each	1100		88009
A10	Ballasts: 2 Lamp - 8 foot Electronic – REL2P59RH – 277 Volt Snap-on, Motorola, Robertson's or (equal)	Apuque OR KEYSTUM SOLA	30 each	1100		3300
A11	Ballasts: 2 Lamp - 8 foot Cool White - High Output - 96T12 R2S110TP - 120 Volt Advanced or (equal)	ADVANCE OR KBYCON	15 each	1422		21450
	PLEASE SPECIFY IN DAYS:	All Illiams repensib				
	DELIVERY TIME FROM ORDER DATE	-				

NAME OF BIDDER	Elecinic Parive Sypis Inc (Please Print or Type)	
SIGNED BY		
ADDRESS	810 BAST 11th SMEAT	
	Brownsully TX 78522	
TELEPHONE	(City/State/Zip Code) (956) 546- 2401 DATE 2-3-2	して

A GRAND TOTAL: 11,821.60

ELECTRIC FIXTURE SUPPLY, INC. 810 EAST 11TH STREET P.O. BOX 231 BROWNSVILLE, TX 78523-0231

## BID FORM CATETORY B

MINIMUM SPECIFICATIONS: LIGHTING & BALLASTS

#### BIDDER'S SPECIFICATIONS:

(Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

	DESCRIPTION OF ITEM		APPROXIMATE QUANTITY - ANNUAL	PRICE EACH	PRICE PER CASE	TOTAL PRICE
B-1	1000 Watts Metal Halide Light Bulb	MH10000 BISB PHILLIAS GE	10 each	2005		200 5
B-2	1000 Watts Metal Halide Ballast	MH100 GA-G-ARKT	10 each	7000		70000
B-3	400 Watts Metal Halide Light Bulb	MHYOUV p/th/100	8 each	2000		16000
B-4	400 Watts Metal Halide Ballast	M 4406 AAQ - 1675	8 each	40 °3		3200
B-5	250 Watts Metal Halide Light Bulb	philips GE Sylvano	15 each	10 02		150°2
B-6	250 Watts Metal Halide Ballast	MH250AQ-147	15 each	30 03		4500
	PLEASE SPECIFY IN DAYS: DELIVERY TIME FROM ORDER DATE	AI) TEM ASPMALLS TO STOCK				s.

PAGE TOTAL: 1980

ELECTRIC FIXTURE SULTAY, INC. 810 EAST 11TH STREET P.O. BOY 231 BROWNSVILLE, TX 78523-0231

## BID FORM CATETORY B

(CONTINUED)

MINIMUM SPECIFICATIONS: LIGHTING & BALLASTS

BIDDER'S SPECIFICATIONS:

(Please fill out basic or exceeding specifications. All wording must be written in column to the right and without confusion to avoid disqualification.)

	DESCRIPTION OF ITEM		APPROXIMATE QUANTITY - ANNUAL	PRICE EACH	PRICE PER CASE	TOTAL PRICE
B-7	150 Watts Metal Halide Light Bulb	MHBUU Sylvan	6 each	10.00		6000
B-8	150 Watts Metal Halide Ballast	MAST ISUA-167-	6 each	30°2	_	/80 <sup>6</sup> 3
B-9	70 Watts Metal Halide Light Bulb	M4700 Sylvan	14 each	10.00		14000
B10	70 Watts Metal Halide Ballast	MHTON- KET KERGIN	14 each	30.00		420,00
	PLEASE SPECIFY IN DAYS: DELIVERY TIME FROM ORDER DATE	All TEAS LUMANIS				
	NAME OF BIDDER ELEGINZ FEYTURE S	sant Inc		B GI	RAND TOTAL:	2780°°

NAME OF BIDDER	ElEcima Faxore Synnia Fra	
	(Please Print or Type)	
SIGNED BY	<b>3</b> 1	
ADDRESS	810 E487 11 3th Sineses	
	Brownsville JX 78522	
TELEPHONE	(City/State/Zip Code) (956.) Sy6-2401 DATE 2-3-3	2

ELECTRIC FIXTURE SUPPLY, MO. 810 EAST 11TH STREET P.O. BOX 281 BROWNSVILLE, TX 78523-0231

### **ANNUAL BID: #2004**

### **LIGHT BULBS - BALLASTS**

## **MISCELLANEOUS LIST**

On all other Light Bulbs - Ballasts	not listed Cameron County will receive_	75%	_% off our catalog list price

### LIST PRICES MUST ACCOMPANY ALL BIDS SUBMITTED.

Bidder_	Bleama Ferre Sypph
Address_	810 EAST 11 THE SMEET
	Brownsville TX 78522
	(City/State/Zip)
Signature_	
Telephone	956-546-2401 Date 2-3-22

BROWNEVILLE, TX 7L3234221